What does HDI do?


What is the difference between a scattered and clustered settlement?


T/F 
Birthrate measures the number of babies born per 1000 people.


T/F  
Canada has a high birthrate.

T/F
Linear settlements are when homes are far apart.

T/F 
To calculate the population density take the population and divide it by the km2.

T/F Canada has a large area which makes for a densely populated country.

T/F More births in a country that deaths in a country makes for a natural decrease

T/F HDI stands for Human Development Index

T/F  many people dying in a country could cause a natural decrease

T/F A clustered settlement has many people living close together

T/F When you move into a country it is called emigration.

T/F Clustered settlements have many stores and services near by.

T/F  Living far away from people with a large  distance between houses is a scattered settlement

Natura increase is caused by:
A. higher birthrate than death rate
B. higher death rate than birthrate
C. both create a natural increase

T/F    Sparse population occurs when there is little access to education, little food, poor water and extreme climate.
T/F most of the world is covered in water.

How do you measure population density?
People per km2     or km2 per people?
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